TiERH :

seg) . Ti2IER : aERITIE(SFE) T=3cm BEfiy . 1.00m?
ITHIBR Bl B 2= A = 5T
SRR TE m? 1.00 720 720
BB m? 1.00 50 50
s A E = 1.00 80 80
1: 37J</)E,Dé‘i m?3 0.03| 3500 105
BT m? 1.00 250 250
xglﬂ(étﬂ%&ﬁﬁ) = 1.00 5 5
m° B B 3t 1210 7T
TR2EH
seg) . Ti2IER : sERITIE(SFE) T=6cm BEfiy . 1.00m?
ITHIBR Bl B 2= A = 5T
SRR TE m? 1.00 720 720
BB m? 1.00 60 60
s A E = 1.00 80 80
1: 37J</)E//|‘é‘i m?3 0.03| 3500 105
e T m? 1.00 250 250
xglﬂ(étﬂﬁﬁﬁﬁ) = 1.00 5 5
m° B B 3t 1220 7T
TR2EH
seg) . Ti2IER : sERITIE(SIFE) T=6cm BEfiy . 1.00m?
ITHIBR Bl B 2= A = 5T
SRR TE m? 1.00 720 720
BB m? 1.00 60 60
MiEAE = 1.00 80 80
TR m?3 0.04| 1250 50
R IE m? 1.00 150 150
SE2 TR(ZYERIER) = 1.00 10 10
m’ B B it 1070 7T
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